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106105125100920 | Z45%4 | 125100 | TR/ 3 [ (JE4) MBA] 230 180.8 | 83.53 |dEAHkI| WFE
106105125101188[% 5 125100 | Trs & 2 [ (dE4) MBA] 252 158.3 | 81.58 [dEAHil| ki
106105125101258 [ fEwk2r | 125100 | T 3 [ (JE4) MBA] 246 161.2 | 81.30 |dE4Hiil[ FsEEL
106105125100567 | £ HE A | 125100 | Cis & FE [ (AE4) MBA] 244 162.2 | 81.22 |dE4Hil[ FIsEE
106105125101106 |Z=tH4E | 125100 | 758 #E [ (FFE42) MBA] 221 176.9 | 81.06 |dE4H#| #AFEL
106105125100912 | &5 125100 | Tsd PR (E4) MBA] 215 180.8 | 81.03 |dE4H#|| #AFHEL
106105125100451 [ &I 125100 | Tr 3 [ (3E4%) MBA] 220 176.9 | 80.89 |dE4Hiil[ FsEHL
106105125100770 [ 8% | 125100 | T s B [ (JE4>) MBA] 233 167.7 | 80.76 |dEAHkl| #hskEL
106105125100939 (5K | 125100 [ T75 % #E[ (JE4) MBA] 235 165.6 | 80.57 |dEAHikl| sk
106105125101283 |#E ks | 125100 | T 3 [ (E4) MBA] 229 169.4 | 80.52 |dE4Hiil[ FIsEE
106105125100746 | XIZ542 | 125100 | Lis & FE [ (3FE4) MBA] 233 165.9 | 80.31 |dEAH#I|[ #WFE
106105125100995 |4 BH 125100 [T PR (IE4) MBA] 218 173.2 | 79.63 |dE4H#|| #AFHEL
106105125100927 | 4=JkHd | 125100 | Tis & FE [ (AE4) MBA] 220 170.5 | 79.29 |dE4Hiil[ FIsEEL
106105125100867 |[JE £ | 125100 | T 3 [ (JE4) MBA] 222 167.4 | 78.85 |dE4=Hiil[ FIsEEL
106105125100380 | &5 il 125100 | Tps & 2 [ (dFE4s) MBA] 219 169.3 | 78.83 [dEAH&I| Wk
106105125101200 [ WL | 125100 | Ty ¥ [ (JE4>) MBA] 221 167.6 | 78.73 |dE4H#|| #AFEL
106105125100157 | kA & | 125100 | Lis & FE [ (3FE4) MBA] 243 152.6 | 78.65 |dE4Hiil[ FIsEEL
106105125100302 |#HFfEE | 125100 | T 58 #E [ (FFE42) MBA] 222 166 78.50 |dE4AH#| #AEL
106105125100739 (29T | 125100 | T8 B [ (JE4>) MBA] 219 167.6 | 78.40 [dEAHEI| Wk
106105125100020 | J&# % 125100 | TR 3 [ (JE42) MBA] 231 159. 1 | 78.28 |dE4=Hiil[ FsEEL
106105125100747 [F2 A | 125100 | TR 3 [ (E4) MBA] 214 170.4 | 78.27 |FEAH#HI| WFE
106105125100906 |5k ¥ | 125100 | L5 FE [ (JE4) MBA] 209 173.6 | 78.23 [dEAHEI| Pk
106105125100978 |5K 450 [ 125100 | Lis & FE [ (AE4) MBA] 233 157.3 | 78.16 |dE4=Hiil[ FsEEL
106105125100926 o[ 78 | 125100 | Tis & FE [ (AE4) MBA] 221 165.2 | 78.13 |dE4Hil[ FIsEE
106105125100982 | 4:¥54 | 125100 | TRg %758 [ (FE4>) MBA] 229 159.4 | 78.02 [dEAHEI| sk
106105125100945 | Z &8 | 125100 | T 58 #E [ (FE42) MBA] 218 166.3 | 77.91 |dE4H#|| #AFEL
106105125100452 | MR | 125100 | Tis & FE [ (3E4) MBA] 219 165.5 | 77.88 |dE4=Hiil[ FSEHL
106105125100552 |4 #6 % [ 125100 [T #EL CIE4) MBA] 229 158.2 | 77.72 [dEAHEI| PkE
106105125100639 [#1Vi& 125100 [T PR (JE4) MBA] 210 170. 1 77.53 |dEAH#E| #AEL
106105125100873 | XUFN4E | 125100 | Lis & FE [ (AE4) MBA] 208 171.4 | 77.52 |dE4HEI[ FIEE
106105125100562 | &[4 | 125100 | TR 3 [ (JE4) MBA] 219 163.4 | 77.35 |dEAHHI] WFE
106105125100124 |36t | 125100 | TR % #E [ (3E4>) MBA] 214 166.7 | 77.34 [dEAHEI] PFE
106105125100741 [VEJKSF | 125100 | TR 3 [ (E4) MBA] 204 173.3 | 77.33 |dE4Hl[ FIEE
106105125100898 |24k [ 125100 | T e 3 [ (JE4) MBA] 217 164.5 | 77.29 |dE4HHI[ FIsEE
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106105125100147 [XEJE [ 125100 [T FEL CIE4) MBA] 220 162.3 | 77.24 [dEAHEI] PEE
106105125100775 L4 | 125100 | Cis & FE [ (AE4) MBA] 205 172.3 | 77.24 |dE4HEI[ FSEE
106105125100733 /4560 [ 125100 | T/ 3 [ (JE4) MBA] 222 160.9 | 77.23 |dE4HHI[ I
106105125100956 | F 328 | 125100 | 758 #E [ (FFE43) MBA] 207 170.8 | 77.20 |dE4H#|| #AFEL
106105125100735 [P REE [ 125100 [ Ci5E #EL (IE4) MBA] 206 171.2 | 77.13 [dEAHEI] PEE
106105125100750 | XEF | 125100 | TR # [ (JE4) MBA] 214 165.8 | 77.12 |dE4HI[ FIsEEL
106105125101243 | g f@ % | 125100 | Tp 8 #E [ (FFE40) MBA] 219 162.4 | 77.10 |dE4H#|| #AFEL
106105125100916 | 2578 125100 [T/ % L[ (IE4) MBA] 219 161.7 | 76.93 [dEAHEI| Pk
106105125100886 | 14 & 125100 | TR 3 [ (JE4) MBA] 206 170.4 | 76.93 |dE4Hiil[ FIEE
106105125100692 [ 44 | 125100 [ T #E [ (JE4) MBA] 200 174.4 | 76.93 |dE4HEI| UsEE
106105125100047 | &y 5 | 125100 | T8 # [ (FE40) MBA] 226 156.7 | 76.84 |dE4H#|| #AFHEL
106105125101261 | 5 Fi 125100 | TR 3 [ (JE4%) MBA] 213 165.1 | 76.78 |dE4Hiil[ FSEEL
106105125100727 | VETE 125100 | TR 3 [ (3E4) MBA] 212 165.8 | 76.78 |dE4Hiil[ FIsEEL
106105125100793 | 54 B 125100 | Tps & 2 [ (dFE4s) MBA] 207 168.9 | 76.73 [dEAHEI| HskE
106105125100594 |52 bk | 125100 | Tpg4s B[ (GE4) MBA] 213 164.8 | 76.70 [dEAHEI| Pk E
106105125100547 |tk 125100 | TR 3 [ (3E4%) MBA] 218 161.2 | 76.63 |dE4Hiil[ FIsEEL
106105125101117 | ZAHEL | 125100 | T 58 FE [ (FFE43) MBA] 206 168.8 | 76.53 |dE4H#|| #AFEL
106105125100977 |5k AfkE | 125100 | T 5 #E [ (FF4) MBA] 209 166.7 | 76.51 |dE4H#|| #AFHEL
106105125101099 | 2= 5E 125100 | TR 3 [ (3E4) MBA] 200 172.3 | 76.41 |dE4Hl[ FIEE
106105125100690 |88 | 125100 | Lis & FE [ (3E4) MBA] 206 168.2 | 76.38 |dE4HEI| #UsEEL
106105125100752 [ F4Edd | 125100 | T8 B [ (JE4>) MBA] 198 173.2 | 76.30 [dEAHEI] Pk
106105125100637 |[#46 | 125100 | TR 3 [ (E4) MBA] 200 171.7 | 76.26 |dE4Hiil[ FSEEL
106105125100879 |-, | 125100 | Tis & FE [ (AE4) MBA] 212 163.4 | 76.18 |dE4Hil[ FIsEHL
106105125100940 [R5 | 125100 | T B [ (JE4>) MBA] 203 169.4 | 76.18 [dEAHEI| Wk
106105125100161 |4y | 125100 | T s ¥ [ (JE4) MBA] 197 173.4 | 76.18 |dE4H#|| #AHEL
106105125100967 | ZE43 | 125100 | TR 3 [ (JE4) MBA] 214 161.7 | 76.09 |dE4Hiil[ FIsEHL
106105125100824 |25 H 125100 | L5 & 2 [ (dE4) MBA] 195 174.1 | 76.03 [dEAHEI] PkE
106105125100294 |47 07 | 125100 | TR %758 [ (3E4>) MBA] 230 150.6 | 75.98 [dEAHiI| sk
106105125100737 | 55 #% 125100 | TR 3 [ (3E4) MBA] 217 159. 1 | 75.94 |dE4=Hil[ FIEE
106105125100361 | F 3 125100 | TR 3 [ (JE4%) MBA] 222 155.4 | 75.85 |dE4HikI| #UsEEL
106105125100985 [ 44 | 125100 | T s B [ (JE4>) MBA] 197 172 75.83 |dEAHEI Pk E
106105125100466 |AE4EE | 125100 | TR 3 [ (E4) MBA] 197 171.9 | 75.81 |dE4=Hiil[ FsEEL
106105125100453 |#E¥54F | 125100 | Tis & FE [ (JE4) MBA] 211 162.5 | 75.79 |dE4Hl|[ FIsEEL
106105125100062 |47 3ERL | 125100 | .58 FE [ (FFE4) MBA] 215 159.8 | 75.78 |dE4H#| #AFEL
106105125100984 | [ #3%E | 125100 | Ty s ¥ [ (JE4) MBA] 206 164.9 | 75.56 |dE4H#I| #AEL
106105125100662 | F 5 125100 | Tr 3 [ (3E42) MBA] 216 158.1 | 75.53 |dE4=Hiil[ FsEHL
106105125100830 [ B kg€ | 125100 | T p 58 B [ (JE4>) MBA] 191 174.4 | 75.43 [dEAHEI] PEE
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106105125100950 (Z= )y | 125100 | T s B [ (JE4>) MBA] 214 159 75.42 | FEAHEI] PR E
106105125100931 | JE &7 | 125100 | Lis & FE [ (AE4) MBA] 221 154.3 | 75.41 |dE4Hil[ FISEE
106105125100394 |BEIHFE [ 125100 | TR 3 [ (E4) MBA] 212 159.9 | 75.31 |dE4Hil[ FIsEE
106105125101281 |[4 6 125100 [T PR (E4) MBA] 197 169.9 | 75.31 |dE4H#|| #A5E
106105125101235 [/ 2235 | 125100 | T 548 B[ (GE4>) MBA] 196 170.3 | 75.24 [dEAHEI] PkE
106105125100705 |2k £ | 125100 | T 3 [ (JE4) MBA] 205 164.1 | 75.19 |dE4Hil[ FIsEEL
106105125100472 | B KAz | 125100 | T.5 8 FE [ (FFE42) MBA] 207 162.5 | 75.13 |dE4H#I| #AEL
106105125100450 [ 358 | 125100 | T s B [ (JE4) MBA] 194 170.7 | 75.01 [dEAHEI] PskE
106105125100961 | 4] ik 125100 | TR 3 [ (JE4) MBA] 217 155 74.92 e HH]| FSERE
106105125101121 [F53E0E [ 125100 | TR F [ (JE4) MBA] 198 167.5 | 74.88 |dEAHkI| FWhFE
106105125100316 [ 8= | 125100 | T s B [ (JE4) MBA] 203 163.9 | 74.81 [dEAHEI] Pk
106105125100724 |BERHE | 125100 | Tis & FE [ (AE4) MBA] 211 158.2 | 74.72 |dE4HiIl[ FISEEL
106105125101095 | FF#kE [ 125100 | TrE 3 [ (E4) MBA] 197 167.5 | 74.71 |dE4HEI[ IS
106105125100766 | VT 7 125100 [T % [ (E4) MBA] 192 170.8 | 74.70 [dEAHEI| PskE
106105125100851 |[5k464 | 125100 | T s ¥ [ (JE4>) MBA] 205 162 74.67 |JEAHEI] PRE
106105125100525 | & & 125100 | TR 3 [ (3E4%) MBA] 198 166.4 | 74.60 |dE4Hil[ FISEEL
106105125100360 | 2% 125100 | L5 & 2 [ (dE4) MBA] 193 169.5 | 74.54 [dEAHEI] PkE
106105125101168 | H G T | 125100 | T/ 8 # [ (FFE42) MBA] 220 151 74.42 |dEAH#E| A EL
106105125100787 | & 4> 125100 | TR 3 [ (3E4) MBA] 199 164.6 | 74.32 |dE4HI[ FISEE
106105125101237 |4 ¥ 125100 | TR (GE4) MBA] 197 165.9 | 74.31 [dEAHHI| sk
106105125100078 [FLEH 125100 | T PR (IE4) MBA] 194 167.9 | 74.31 |dE4H#|| #AFHE
106105125101166 | Xt 125100 | TR 3 [ (JE4%) MBA] 198 165.2 | 74.30 |dE4Hl[ FISEE
106105125100510 |2 7% [ 125100 | TR 3 [ (E4) MBA] 207 159 74.25 [dEA&HH]| USRI
106105125100673 | ik | 125100 | L5 FE [ (AE4) MBA] 207 158.9 | 74.23 [dEAHEI| PkE
106105125100817 |4 & & | 125100 | T ¥ [ (JE4>) MBA] 211 155.8 | 74.12 [dEAHEI] PkE
106105125100701 | #H%#K 125100 | Tr 3 [ (3E42) MBA] 207 158.4 | 74.10 |dE4HI[ FIsEEL
106105125100520 | W HE | 125100 | TRg %758 [ (FE4>) MBA] 200 162.8 | 74.03 [dEAHEHI] PEE
106105125100123 |8 5% 125100 | Tp & 2 [ (dFE4) MBA] 209 156.6 | 73.98 [dEAHEI| sk
106105125100786 | ¥F 5. 125100 | TR 3 [ (3E4) MBA] 217 151 73.92 [dEAHH]| SERE
106105125100328 | B )2 125100 | TR 3 [ (JE4%) MBA] 198 163.2 | 73.80 |dE4Hi#I| #UsEEL
106105125100721 |E s | 125100 | T s B [ (JE4) MBA] 213 153 73.75 |dEAHEI] PR E
106105125101151 |05 K [ 125100 | Cis & FE [ (AE4) MBA] 188 169.6 | 73.73 |dE4Hil[ FISEEL
106105125100096 | 5245 125100 | TR 3 [ (3E4) MBA] 217 149.8 | 73.62 |dE4Hiil[ FIsEEL
106105125100599 (3£ A7:¢x | 125100 | T B [ (JE4>) MBA] 215 151 73.58 |dEAHEI| Pk
106105125100553 [/ 5 Ef | 125100 | T ¥ [ (JE4) MBA] 199 161.6 | 73.57 |dE4H#|| #AFEL
106105125100377 |24 [ 125100 | TR 3 [ (JE4) MBA] 198 162.2 | 73.55 |dE4Hil[ FIsEEL
106105125100934 | &P 125100 | s & 2 [ (dE4) MBA] 189 168.2 | 73.55 [dEAHEI| Pk
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106105125100756 | A % 125100 | T 2 [ (dE4) MBA] 186 169.8 | 73.45 [dEAHEI] PkE
106105125100698 [fi /2 | 125100 | TR 3 [ (JE4) MBA] 183 171.5 | 73.38 |dE4Hiil[ FsEE
106105125101183 [#44EFH [ 125100 | T 3 [ (E4) MBA] 207 155.1 | 73.28 |dE4=Hiil[ FIsEEL
106105125101212 | %] 125100 | Tps & 2 [ (dE4s) MBA] 210 153 73.25 |dEAHEI PR E
106105125101241 [Z5HE | 125100 | Tpg48 B[ (GE4) MBA] 186 169 73.25 |JEAHEI] PR E
106105125100980 H¥4 . | 125100 | T 3 [ (JE4) MBA] 210 152.9 | 73.23 |dE4HHI[ FIsEE
106105125100782 [Hhfi [ 125100 [ TiH e FEL CIE4) MBA] 194 163.4 | 73.18 [dEAHEI| Pk
106105125100121 [0 | 125100 | T s B [ (JE4>) MBA] 198 160.6 | 73.15 |dE4H#|| #AFHEL
106105125100106 | 3H4E [ 125100 | T3 [ (JE4) MBA] 201 158.5 | 73.13 |dE4Hiil[ FIEE
106105125100366 [ % 5] — | 125100 | T4 3 [ (FE4>) MBA] 206 155 73.08 |FEAHEI| L EL
106105125100964 |5k B 125100 [T #E [ CIE4) MBA] 203 157 73.08 |JEAHEI| sk
106105125101170 |BE&EA | 125100 | TR 3 [ (E4) MBA] 203 157 73.08 [dEAHHI| USKE
106105125100901 | # i1 | 125100 | Lis & FE [ (AE4) MBA] 181 171.4 | 73.02 |dE4=Hl[ FIsEE
106105125100296 |28 | 125100 | 758 #E [ (FFE43) MBA] 197 160.6 | 72.98 |dE4H#| #AEL
106105125100708 [ £ | 125100 | T ¥ [ (JE4) MBA] 197 160.6 | 72.98 [dEAHibI| sk
106105125100983 | F - £ [ 125100 | TR 3 [ (JE4) MBA] 188 166.2 | 72.88 |dE4Hiil[ FIsEEL
106105125100649 |74 | 125100 | T 58 FE [ (FFE40) MBA] 184 168.6 | 72.82 |dE4H#| #AEL
106105125100730 | =05 | 125100 | T8 ¥ [ (FFE42) MBA] 197 159.9 | 72.81 |dE4H#|| #A5HEL
106105125100455 |48 8k [ 125100 | T e 3 [ (E4) MBA] 195 161.1 | 72.78 |dE4=Hiil[ FIsEEL
106105125100814 |FEiES: | 125100 | TR 3 [ (JE4>) MBA] 208 152.4 | 72.77 |FEAHHI| WFE
106105125100461 [5kz=K [ 125100 [T #EL CIE4) MBA] 200 157.7 | 72.76 |[dEAHEI| PEE
106105125100789 |45 % 125100 | TR 3 [ (JE4%) MBA] 203 155.6 | 72.73 |dE4Hiil[ FISEE
106105125100329 | 5 i 125100 | TR 3 [ (3E4) MBA] 191 163.1 | 72.61 |dE4=Hil[ FIEEL
106105125100413 | FEAS 125100 [T PR (E4) MBA] 198 158.3 | 72.58 |dE4H#| #AFEL
106105125100358 |5k | 125100 | T p 8 #E [ (FFE42) MBA] 208 151.5 | 72.54 |dE4H#|| #AEL
106105125100500 |24 125100 | Tr 3 [ (3E42) MBA] 199 157.1 | 72.44 |dE4HHI[ s
106105125100866 | i i& 125100 | L5 & 2 [ (dE4) MBA] 190 162.9 | 72.39 [dEAHEI] PskE
106105125100571 |4 & 125100 | Tp & 2 [ (dFE4) MBA] 182 168.2 | 72.38 |[dEAHEI| Pk
106105125100749 |18/ i [ 125100 | TrgE 3 [ (JE4) MBA] 185 166. 1 | 72.36 |dE4Hiil[ FIsEEL
106105125100740 | XIJiT 125100 | TR 3 [ (JE4%) MBA] 173 174.1 | 72.36 |dE4HEI| UEE
106105125100014 | F I 125100 | T PR (IE4) MBA] 171 175.3 | 72.33 |dE4H#|| #AFHE
106105125100533 [jEX M HE | 125100 | T 3 [ (E4) MBA] 197 157.9 | 72.31 |dE4HHI[ FIEE
106105125100522 | &5 & 125100 | TR 3 [ (3E4) MBA] 201 155.1 | 72.28 |dE4=Hil[ FIsEEL
106105125100326 |5k 2z 4 | 125100 [ L7555 #E [ (E4) MBA] 208 150.3 | 72.24 |dE4H#|| #AFEL
106105125100596 | A7k | 125100 | T 58 #E [ (FE4) MBA] 192 160.8 | 72.20 |dE4H#|| #AFEL
106105125100664 |ZF &5 | 125100 | TriE 3 [ (JE4) MBA] 181 167.8 | 72.12 |dE4HI[ FIsEEL
106105125101305 [Z=#E4E | 125100 | Tpg s 3 [ (JE4>) MBA] 183 166.4 | 72.10 [dEAHEI] PskE
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106105125100418 | ¥ 7 125100 [ T8 #E [ CIE4) MBA] 212 146.9 | 72.06 |[dEAHEI]| PskE
106105125100760 | X1 ¥ 125100 | TR 3 [ (JE4%) MBA] 180 168.2 | 72.05 |dE4Hiil[ FSEEL
106105125100899 |7k 4+ 125100 | TR 3 [ (3E4) MBA] 191 160.7 | 72.01 |dE4=Hl[ FIsEE
106105125100717 | 2 45 | 125100 | Tp 8 #E [ (FFE42) MBA] 199 155.2 | 71.97 |dE4H#|| #A5E
106105125100064 | %% 125100 | Ts PR (JE4) MBA] 197 156.2 | 71.88 |dE4H#| #AFEL
106105125100588 | ZE40 4 | 125100 | TR/ 3 [ (JE4) MBA] 182 166.2 | 71.88 |dE4Hiil[ FsEHL
106105125100971 | &3 125100 [T #E [ (CIE4) MBA] 188 162.1 | 71.86 [dEAHEI| Wk
106105125100387 |5k 54 | 125100 | T.p 8 #E [ (FF4) MBA] 204 151.4 | 71.85 |dE4H#|| #AFHEL
106105125100878 [EX N2 [ 125100 | T 3 [ (E4) MBA] 183 165.4 | 71.85 |dE4Hiil[ FSEEL
106105125100688 | F A | 125100 | TR 3 [ (JE4) MBA] 183 165.2 | 71.80 |3dE4H#I| FWhE
106105125100647 [5k#E{5 [ 125100 [T #EL CIE4) MBA] 194 157.8 | 71.78 [dEAHEI| Pk
106105125100745 | 2A# 2= | 125100 | Lis & FE [ (AE4) MBA] 183 164.7 | 71.68 |dE4Hiil[ FSEEL
106105125100759 | F M 125100 | TR 3 [ (3E4) MBA] 181 166 71.67 [dEAHH]] USRI
106105125100591 | /& EAE | 125100 | TRg% 5 [ (FE4>) MBA] 194 157.3 | 71.66 |dEAHEI| PskE
106105125100811 | #f & 125100 | Ts PR (JE4) MBA] 176 169.3 | 71.66 |dE4H#|| #AFEL
106105125100484 [#% 5 125100 | TR 3 [ (3E4%) MBA] 198 154.6 | 71.65 |dE4Hil[ FIsEEL
106105125100339| 56 % 125100 [T #E [ (CIE4) MBA] 171 172.5 | 71.63 [dEAHEI]| PskE
106105125100478 [ 4y | 125100 | T B [ (JE4>) MBA] 178 167.8 | 71.62 [dEAHEHI| PkE
106105125100052 % 4EE | 125100 | Cis & FE [ (AE4) MBA] 191 159.1 | 71.61 |dE4=Hil[ FIEE
106105125100736 |#46eak | 125100 | Lis & FE [ (3E4) MBA] 175 169.7 | 71.59 |3dE4H#I| #hE
106105125100364 | {i j# 125100 | T 2 [ (dE4) MBA] 200 152.9 | 71.56 [dEAHEI] Pk
106105125100653 | 4x v | 125100 | T/ 3 [ (dE4) MBA] 188 160.8 | 71.53 |dE4Hiil[ FISEEL
106105125100628 | &' i 125100 | TR 3 [ (3E4) MBA] 182 164.7 | 71.51 |dE4HHI[ I
106105125100165 | A] 125100 | T p & 2 [ (dFE4s) MBA] 175 169.3 | 71.49 [dEAHEI| PkE
106105125100443 |25 | 125100 | T s ¥ [ (JE4) MBA] 196 155.2 | 71.47 |dE4H#|| #AFEL
106105125100004 [ 214 125100 | Tr 3 [ (3E42) MBA] 194 156.5 | 71.46 |dE4Hil[ FIsEEL
106105125100537 |4 &% 125100 | L5 & 2 [ (dE4) MBA] 186 161.8 | 71.45 [dEAHEI] PkE
106105125100962 | 7i1.i% 125100 | Tp & 2 [ (dFE4) MBA] 193 157.1 | 71.44 [dEAHEI] Pk
106105125100921 |5K3% 5 [ 125100 | Cis & FE [ (AE4) MBA] 192 157.7 | 71.43 |dE4HEI[ FSEE
106105125100900 | A7 #EE | 125100 | Lis & FE [ (3FE4) MBA] 194 156.3 | 71.41 |FEAH#HI|[ WFE
106105125100245 | % 5% 125100 | T 2 [ (dE4) MBA] 173 170.2 | 71.38 [dEAHEI] Pk
106105125100822 | ¥+ | 125100 | Cis & FE [ (AE4) MBA] 176 168 71.33 [dEAHHI| FSRE
106105125101260 | & iH, 125100 | TR 3 [ (3E4) MBA] 178 166.5 | 71.29 |dE4HI[ FIsEE
106105125100393 | F &z | 125100 | T.5 8 #E [ (FFE43) MBA] 198 152.8 | 71.20 |dE4H#|| #AEL
106105125101157 |40 AR | 125100 | L5 FE [ (JE4) MBA] 196 154 71.17 [FEAHEI PR E
106105125100606 |46 | 125100 | T 3 [ (JE4) MBA] 188 158.7 | 71.01 |dE4=Hil[ FIsEEL
106105125100426 [Z=48 125100 | Tise PR (E4) MBA] 182 162.7 | 71.01 |dE4H#|| #AFEL
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106105125100055 [ 5eheds | 125100 | T e B [ (JE4) MBA] 184 161.3 | 70.99 [dE4HiEI| Pk
106105125100896 | FEi AR [ 125100 | Cis & FE [ (AE4) MBA] 171 169.9 | 70.98 |dE4Hiil[ FSEEL
106105125100948 |yuFiIE [ 125100 | Tis & FE [ (AE4) MBA] 188 158.5 | 70.96 |dE4Hil[ FIsEEL
106105125100460 | x4 | 125100 | TRg% 5 [ (FE4>) MBA] 198 151.8 | 70.95 [dEAHEI| Pk
106105125101191 [4#E3t | 125100 | Tpg48 B[ (GE4) MBA] 189 157.7 | 70.93 [dEAHEI] PkE
106105125100807 | 7k ] 125100 | TR 3 [ (3E4%) MBA] 178 165 70.92 [dEA&HH]| USRI
106105125100734 [ B4 | 125100 | T s B [ (JE4) MBA] 179 164.3 | 70.91 [dEAHEI] PkE
106105125100141 |[milgsm | 125100 | T 58 #E [ (FFE42) MBA] 189 157.5 | 70.88 |dE4H#|| #AHEL
106105125100635 [ #kff | 125100 | TR L[ (JE42) MBA] 186 159.5 | 70.88 [dE4H#il| 5EH
106105125100508 | 7k 2 125100 | TR 38 [ (JE4%) MBA] 180 163.4 | 70.85 |dE4H#I| WE
106105125100236 |3k<=5* | 125100 | Tps & 2 [ (AE4) MBA] 191 155.8 | 70.78 [dEAHEI| Pk
106105125100955 |k [ 125100 | Tis & FE [ (AE4) MBA] 183 160.9 | 70.73 |dE4Hiil[ FISEE
106105125100476 |Z=HE >4 | 125100 | Cis & FE [ (AE4) MBA] 184 160.2 | 70.72 |dE4Hl[ FIsEE
106105125100085 | Kk 125100 [T % [ (E4) MBA] 187 158.1 | 70.69 [JdEAHkl| sk
106105125100869 | Az 48 | 125100 | T 58 FE [ (FE42) MBA] 188 157.4 | 70.68 |dE4H#|| #AFEL
106105125101160 |5k U | 125100 | Tis & FE [ (3E4) MBA] 189 156.6 | 70.65 |dE4Hiil[ FIsEEL
106105125101109 |48 | 125100 | T B [ (JE4>) MBA] 186 158.6 | 70.65 |[dEAHEI| Pk
106105125100022 [FEEE | 125100 | TR s B[ (JE4) MBA] 183 160.6 | 70.65 |[dEAHEI| Pk
106105125100225 | = HHkd | 125100 | Cis & FE [ (AE4) MBA] 193 153.9 | 70.64 |dE4Hiil[ FISEEL
106105125100143 | 2163 | 125100 | L& FE [ (3E4) MBA] 185 159.2 | 70.63 |dEAHI| FWhFE
106105125100684 |3y | 125100 | T 58 #E [ (FFE42) MBA] 181 161.7 | 70.59 |dE4H#|| #AFHEL
106105125100952 |BHAR#A | 125100 | TR 3 [ (JE4) MBA] 188 157 70.58 [dEAHHI| FUSKE
106105125100943 | ey | 125100 | Tis & FE [ (AE4) MBA] 185 158.8 | 70.53 |dE4Hiil[ FIsEEL
106105125100041 |FH#HE | 125100 | TRg% 58 [ (3E4>) MBA] 175 165.4 | 70.52 [dEAHEI| PskE
106105125100445 |75 25%5 | 125100 | T s ¥ [ (JE4) MBA] 172 167.4 | 70.52 |dE4H#|| #AEL
106105125100159 (25 125100 | Tr 3 [ (3E42) MBA] 183 159.8 | 70.45 |dE4=Hil[ FIsEEL
106105125100975 [ it | 125100 | T8 B [ (JE4>) MBA] 191 154.4 | 70.43 [dEAHEI] PRE
106105125100622 |5 & 125100 [T/ % L[ (JE4) MBA] 181 160.9 | 70.39 [dEAHEI| Pk
106105125100037 |f£ % 125100 | TR 3 [ (3E4) MBA] 175 164.9 | 70.39 |dE4Hiil[ FIEE
106105125100932|5K 47 | 125100 | s & FE [ (3E4) MBA] 185 158.1 | 70.36 |3dE4HkI| FWhE
106105125100491 [Z=4E 5 | 125100 | T i [ (JE4>) MBA] 194 151.9 | 70.31 [dEAHEI] Pk
106105125100713 |3#i1E2E | 125100 | L& FE [ (AE4) MBA] 197 149.8 | 70.28 |dE4Hiil[ FsEEL
106105125100485 i/ [ 125100 | T 3 [ (E4) MBA] 177 163.1 | 70.28 |dE4=Hiil[ FIsHL
106105125100303 | 47k 125100 [T % [ (E4) MBA] 178 162.3 | 70.24 [dEAHEI] PkE
106105125101155 (2579 | 125100 | T s ¥ [ (JE4) MBA] 186 156.8 | 70.20 |dE4H#|| #AFEL
106105125101256 |47 EE | 125100 | Lis & FE [ (3FE4) MBA] 175 164.1 | 70.19 |dE4=Hl[ FIsEEL
106105125101173 | % % == | 125100 | T8 [ (FFE42) MBA] 186 156.7 | 70.18 |dE4H#|| #AFEL
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106105125101213 |[#£% 125100 | T PR (IE4) MBA] 190 154 70. 17 |dE4H#| #AE
106105125101194 | F245 [ 125100 | Tis & FE [ (AE4) MBA] 182 159.2 | 70.13 |dE4Hiil[ FsEEL
106105125100444 |5Bh S & | 125100 | TR 3 [ (E4) MBA] 197 149.1 | 70.11 |dE4=HbI[ FIsEE
106105125100989 o] /NEg: | 125100 | TR5 %75 [ (FE4>) MBA] 167 169.1 | 70.11 [dEAHEI] HskE
106105125100693 | & 7t 125100 | Ts PR (JE4) MBA] 181 159.7 | 70.09 |dE4H#|| #AEL
106105125101165 |BEE B | 125100 | T FE [ (3E4) MBA] 193 151.6 | 70.07 |dE4=Hil[ FIsEEL
106105125100487 | &' 1 125100 | T PR (JE4) MBA] 190 153.6 | 70.07 |dE4H#I| #AEL
106105125100027 [Z= 5 125100 | T 7 & 2 [ (dFE4s) MBA] 181 159.6 | 70.07 [dEAHEI] PskE
106105125100516 | /5 Mg | 125100 | s & FE [ (AE4) MBA] 186 156.2 | 70.05 |dE4Hiil[ FISEEL
106105125100689 [ X847 [ 125100 [ T [ (JE4) MBA] 190 153.3 | 69.99 |dE4HikI| #sEE
106105125100515 [#X6% 2 | 125100 | T B [ (JE4) MBA] 162 171.8 | 69.95 [dE4Hibl| sk
106105125100672 |4 58 125100 | TR 3 [ (JE4%) MBA] 183 157.7 | 69.93 |4 Hiil[ FsEE
106105125100171 |&h/EHE [ 125100 | TR 3 [ (E4) MBA] 180 159.7 | 69.93 |dE4Hil|[ FIsE
106105125100650 |5k A% | 125100 | T 58 [ (FFE4) MBA] 179 160.3 | 69.91 |dE4H#|| #AEL
106105125100981 | F 7* 125100 | Ts PR (JE4) MBA] 173 164.3 | 69.91 |dE4H#|| #AFEL
106105125101322 [4F 58 & | 125100 | TR BE[ (JE42) MBA] 180 159.6 | 69.90 [dE4H#l[ 5EH
106105125100935 |40 | 125100 | T 58 FE [ (FE4) MBA] 204 143.5 | 69.88 |dE4H#| #AEL
106105125101232 | H #F&Jik | 125100 | TisE FE [ (JE4) MBA] 189 153.5 | 69.88 [dE4Hil| ki
106105125100007 [EFi 4 | 125100 | T 3 [ (JE4) MBA] 181 158.8 | 69.87 |dE4Hiil[ FsEEL
106105125100490 | #)ji% 125100 | TR 3 [ (E4%) MBA] 172 164.7 | 69.84 |dE4HEI| UsEEL
106105125100859 | 44 125100 | T 2 [ (dE4) MBA] 175 162.6 | 69.82 [dEAHiEI| sk
106105125100439 |7k Wz | 125100 | T 3 [ (JE4) MBA] 178 160.5 | 69.79 |dE4Hiil[ FIsEE
106105125100742 | kS | 125100 | Lis & FE [ (AE4) MBA] 176 161.7 | 69.76 |dE4Hil[ FIsEE
106105125101103 | Bk & | 125100 | Tps 2 [ (dE4:) MBA] 174 163 69.75 |dE4Hil| #EE
106105125100674 | == d7K8 | 125100 | T 58 #E [ (FE42) MBA] 190 152 69.67 [dE4HHI| #WkE
106105125100314 [# 2 125100 | Tr 3 [ (3E42) MBA] 179 159.2 | 69.63 |dE4Hiil[ FIsEEL
106105125101148 |44 125100 | L5 & 2 [ (dE4) MBA] 168 166.3 | 69.58 [JEAHtl| sk
106105125100661 [B'H v | 125100 | T s B [ (JE4>) MBA] 170 164.9 | 69.56 |dE4HiEI| Pk
106105125100576 |#hE&2r [ 125100 | T 3 [ (E4) MBA] 175 161.5 | 69.54 |dE4Hiil[ FIsEE
106105125100475 |2k 5148 | 125100 | L& FE [ (3FE4) MBA] 173 162.7 | 69.51 |FEAH#I| WFE
106105125100403 | XIJEA | 125100 | T8 #E [ (FFE40) MBA] 175 161.3 | 69.49 |dE4H#|| #AFHE
106105125100595 |ZEST £ 125100 | TR 3 [ (E4) MBA] 172 163.2 | 69.47 |dE4Hil[ FsEE
106105125100965 |25 & | 125100 | Cis & FE [ (3E4) MBA] 209 138.4 | 69.43 |dE4HbI[ s
106105125100605 [5k 2528 [ 125100 [ T75 % #E [ (E4) MBA] 167 165.9 | 69.31 [dEAHEI] Pk
106105125100865 |5k F7ilE | 125100 | T 58 #E [ (FE4) MBA] 192 149.2 | 69.30 |dE4H#|| #AFEL
106105125100238 [T 7% 125100 | Tr 3 [ (3E42) MBA] 179 157.8 | 69.28 |dE4Hiil[ FIsEEL
106105125100915 (X5 F | 125100 | T p 58 ¥ [ (JE4>) MBA] 189 151 69.25 |dE4Hl sk
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106105125100427 |0 WA | 125100 | TR %58 [ (3E4>) MBA] 174 160.9 | 69.23 [dEAHEI]| Pk
106105125100597 [fif R ¥ | 125100 | TR 3 [ (JE4) MBA] 166 166.1 | 69.19 |dE4Hiil[ FIsEE
106105125100854 | F£F M [ 125100 | Tis & FE [ (AE4) MBA] 180 156.7 | 69.18 |dE4=Hiil[ FIsEE
106105125100819 (5% 71 | 125100 | Tp s ¥ [ (JE4>) MBA] 174 160.7 | 69.18 [dEAHEI| sk
106105125100718 | 52483k | 125100 | TRg%#E [ (3E4>) MBA] 178 158 69.17 |JE4Hil| #sEE
106105125101302 | AR ¥F 5= [ 125100 | Lis & FE [ (3FE4) MBA] 178 158 69. 17 [dE4 Hifil| $#L3EH
106105125101091 [J7#a4n [ 125100 [T e #EL (IE4) MBA] 173 161.3 | 69.16 [JE4HEI]| PskE
106105125100256 | 2004 | 125100 | TR %758 [ (3E4>) MBA] 190 149.9 | 69.14 [JEAHEI| Pk
106105125100823 |25 | 125100 | L& FE [ (AE4) MBA] 176 159.2 | 69.13 |dE4Hiil[ FIsEE
106105125101190 |4/ HF | 125100 | Cis & FE [ (3E4) MBA] 176 159.2 | 69.13 |FEAH#HI| WE
106105125100210 [ B2 B 125100 | Tps & 2 [ (dE4) MBA] 174 160.5 | 69.13 [dEAHEI] Pk
106105125100624 |4 E 5 | 125100 | Lis & FE [ (AE4) MBA] 184 153.7 | 69.09 |dE4Hiil[ FsEEL
106105125100149 | ¥ 125100 | TR 3 [ (3E4) MBA] 178 157.7 | 69.09 |dE4Hil[ FsE
106105125101177 |[¥B ikt | 125100 | 758 #E [ (FFE43) MBA] 166 165.7 | 69.09 |dE4H#|| #AEL
106105125100465 |s0Z2 1 | 125100 | T8 3 [ (FE40) MBA] 180 156.3 | 69.08 |dE4H#|| #AEL
106105125100557 | =Xk 125100 | TR 3 [ (3E4%) MBA] 176 159 69. 08 [JE4= Hifill| L3
106105125100275 | F % 125100 | T PR (JE4) MBA] 166 165.6 | 69.07 |dE4H#|| #AFEL
106105125100363 |8 | 125100 | TR %758 [ (FE4>) MBA] 179 156.9 | 69.06 |JE4Hil| sk
106105125101313 [H-FH [ 125100 | TR 3 [ (E4) MBA] 181 155.5 | 69.04 |dE4Hiil[ FIsEE
106105125100192 |4 kEglt | 125100 | Cis & FE [ (3E4) MBA] 162 168 69.00 [JE4H| $LsEEL
106105125101296 [ | 125100 | T s [ (JE4) MBA] 176 158.6 | 68.98 [dE4Hil| hskE
106105125100840 | e 125100 | TR 3 [ (JE4%) MBA] 171 161.7 | 68.93 |dE4Hiil[ FsEEL
106105125100872 | 1) 125100 | TR 3 [ (3E4) MBA] 179 156.3 | 68.91 |dE4Hiil[ FsE
106105125100278 | B4 3 125100 [T % [ (E4) MBA] 175 158.9 | 68.89 [JdEAHikl| hskEL
106105125100704 |VERHFE | 125100 | T 58 #E [ (FE42) MBA] 174 159.3 | 68.83 |dE4H#| #AFEL
106105125101129 | FANéE [ 125100 | LiE & FE [ (3E4) MBA] 173 160 68.83 [dE4= Hifill| L3
106105125100963 [fa/hpk | 125100 | Tp 9 B [ (JE4>) MBA] 199 142.6 | 68.82 [dE4Hikl| sk
106105125100970 | 4 1A, 125100 [T PR (IE4) MBA] 169 162.6 | 68.82 |dE4H#| #AFHEL
106105125100625 | F %: 125100 | TR 3 [ (3E4) MBA] 166 164.5 | 68.79 |dE4Hiil[ FIsEE
106105125101249 |47 25 | 125100 | L& FE [ (3E4) MBA] 186 151.1 | 68.78 |dE4HkI| WhH
106105125100051 [ T3 % | 125100 | T s B [ (JE4) MBA] 166 164.4 | 68.77 |[dEAHEI| Pk
106105125100722 | 77 #k 125100 | TR 3 [ (JE4%) MBA] 190 148.3 | 68.74 |dE4Hiil[ FIsEE
106105125100642 | Bk | 125100 | T FE [ (JE4) MBA] 192 146.7 | 68.68 |dE4Hiil[ FIsEHL
106105125100874 [ H# 125100 | T p & 2 [ (dFE4s) MBA] 171 160.6 | 68.65 |dE4Hl| sk
106105125100217 [4x 83 | 125100 | Ty ¥ [ (JE4) MBA] 204 138.5 | 68.63 [dEAHiI| sk
106105125100797 | HGi A | 125100 | TR 3 [ (JE4) MBA] 172 159.8 | 68.62 |4 Hiil[ FIsEHL
106105125100613 | 1] 125100 | T #E [ CIE4) MBA] 160 167.8 | 68.62 [dE4HE| sk
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106105125100791 [/EE 4T | 125100 | T s B [ (JE4) MBA] 171 160.4 | 68.60 [dEAHil]| sk
106105125100784 [iX =% | 125100 | TR 3 [ (dE4) MBA] 165 164.4 | 68.60 |dE4Hiil[ FsEEL
106105125100895 |BE 34 [ 125100 | TR 3 [ (E4) MBA] 164 165 68.58 [dE4= Hifill| L3
106105125100109 | i 545 | 125100 | T 5 [ (FFE40) MBA] 177 156.2 | 68.55 |dE4xH#| #AEL
106105125100556 | A5 125100 | Ts PR (JE4) MBA] 167 162.8 | 68.53 |dE4H#| #AFEL
106105125100762 | F Ay | 125100 | TR 3 [ (JE4) MBA] 186 150 68.50 [JE4= Hifill| L3
106105125101272 [BEM b | 125100 | Tp 58 B [ (JE4>) MBA] 173 158.4 | 68.43 [dEAHEI| Pk
106105125100313 | > &% | 125100 | TRg%7#E [ (FE4>) MBA] 181 152.8 | 68.37 |[dEAHEI| Pk
106105125100651 A4k H | 125100 | s & FE [ (AE4) MBA] 176 156. 1 | 68.36 |dE4Hiil[ FsE
106105125100384 [#X425 [ 125100 [ T [ (JE4) MBA] 172 158.7 | 68.34 |de4HikI| #UsEEL
106105125100993 [#i% WV | 125100 | T s B [ (JE4>) MBA] 184 150.6 | 68.32 [dEAHiEI] Pk
106105125100023 [ 5% | 125100 | TR 3 [ (E4) MBA] 169 160.5 | 68.29 |dE4Hiil[ FIsEE
106105125100344 | 473 | 125100 | TiE & FE [ (3E4) MBA] 164 163.8 | 68.28 |dE4Hiil[ FIsEEL
106105125100726 AW TS | 125100 [ T75 % #E [ (E4) MBA] 170 159.6 | 68.23 [dEAHEI| Wk
106105125100548 [f5ikeig | 125100 | Ty s ¥ [ (JE4) MBA] 166 162.2 | 68.22 |dE4H#|| #AEL
106105125100856 |28 H [ 125100 | Tis & FE [ (3FE4) MBA] 182 151.4 | 68.18 |dE4=Hiil[ FhsH
106105125100404 [Z= &% | 125100 | T s B [ (JE4) MBA] 180 152.5 | 68.13 [dEAHEI| Pk
106105125100922 [ E & 125100 | T p & 2 [ (dFE4) MBA] 169 159.7 | 68.09 [dE4Hil| sk
106105125100864 |FR4E= [ 125100 | TR 3 [ (E4) MBA] 171 158.3 | 68.08 |dE4Hiil[ FsEEL
106105125100601 |5KE47E | 125100 | Lis & FE [ (3FE4) MBA] 179 152.9 | 68.06 |3dE4Hikl| WhE
106105125101259 [3kZfie, | 125100 | T8 B [ (JE4>) MBA] 179 152.9 | 68.06 |dE4Hil] sk
106105125101247 |BEZau: | 125100 | T & FE [ (AE4) MBA] 190 145.5 | 68.04 |dE4Hiil[ FIsEE
106105125101250 |#4: s 4 125100 | Lis & FE [ (AE4) MBA] 177 153.8 | 67.95 |dE4Hil|[ FIsE
106105125100810 |Fa 5 AL | 125100 | 758 #E [ (FF43) MBA] 157 167 67.92 [dE4HHI| #WskE
106105125100720 [#B 855 | 125100 | T s ¥ [ (JE4) MBA] 157 166.9 | 67.89 |dE4H#|| #AFEL
106105125100388 |#%6] 125100 | Tr 3 [ (3E42) MBA] 174 155.4 | 67.85 |dE4Hiil[ FIsEEL
106105125100125 |#A 148 | 125100 | T 58 #E [ (FFE43) MBA] 173 156 67.83 [dEaHHI| #WhskE
106105125101182 X EIH | 125100 | T s i [ (JE4>) MBA] 173 155.9 | 67.81 [dEAHEI| Pk
106105125100702 [ X547 [ 125100 | T e 3 [ (E4) MBA] 177 153.1 | 67.78 |dE4=Hiil[ FIsEE
106105125100082 |25 | 125100 | Lis & FE [ (3E4) MBA] 176 153.5 | 67.71 |FEAHHI|[ WFE
106105125100974 |5k gk | 125100 | T 58 [ (FFE42) MBA] 187 146.1 | 67.69 |dE4H#|| #AFHEL
106105125100513 & 4%id | 125100 | Cis & FE [ (AE4) MBA] 168 158.6 | 67.65 |dE4Hiil[ FsEEL
106105125100667 | E@i=> [ 125100 | T3 [ (E4) MBA] 169 157.6 | 67.57 |dE4Hl[ s
106105125100437 | FFFE | 125100 | T5 8 #E [ (FFE43) MBA] 164 160.9 | 67.56 |dE4H#|| #A5EL
106105125100805 | F 1 125100 | Ts PR (JE4) MBA] 173 154.8 | 67.53 |dE4H#|| #AFHEL
106105125100348 |yu vk [ 125100 | Tis & FE [ (3E4) MBA] 166 159.3 | 67.49 |dE4HEI[ FIsEE
106105125101239 (2759 | 125100 | Tp s ¥ [ (JE4>) MBA] 173 154.5 | 67.46 [dEAHEI] PkE
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106105125100802 [ %43 | 125100 | T8 B [ (JE4>) MBA] 184 147.1 | 67.44 [dEAHEI] Pk
106105125100795 |7k A5t | 125100 | T/ 3 [ (JE4) MBA] 169 157.1 | 67.44 |dE4HEI[ FIEE
106105125100504 | 5 —# | 125100 | Tis & FE [ (3E4) MBA] 171 155.7 | 67.43 |dE4HbI|[ s
106105125100847 | F&/% | 125100 | T.p 8 [ (FFE43) MBA] 168 157.7 | 67.43 |4 H#|| #AFE
106105125100519 |yl A% | 125100 | T 58 #E [ (FE4) MBA] 177 151.6 | 67.40 |dE4H#|| #AFEL
106105125100224 | & 125100 | TR 3 [ (3E4%) MBA] 166 158.9 | 67.39 |dE4Hil[ FIsEE
106105125100441 | JEp4lF 125100 | T PR (JE4) MBA] 163 160.9 | 67.39 |dE4H#|| #AFEL
106105125100778 |34 44/ | 125100 | TR % ¥ [ (3E4>) MBA] 171 155.5 | 67.38 [dEAHEI| Pk
106105125100107 | ¥4 125100 | TR 3 [ (JE4) MBA] 178 150.8 | 67.37 |dE4Hil[ FIsEE
106105125100442 |BkiEeE | 125100 | TR # [ (JE4) MBA] 175 152.7 | 67.34 |FEAHHI] WFE
106105125101163 | #1# 125100 | Tps & 2 [ (dE4) MBA] 178 150.6 | 67.32 [dEAHEI| Pk
106105125100180 | H52R] [ 125100 | Lis & FE [ (AE4) MBA] 184 146.5 | 67.29 |dE4Hil[ FIsEEL
106105125101130 | F 28 [ 125100 | T FE [ (AE4) MBA] 175 152.5 | 67.29 |dE4Hl[ s
106105125100527 | Ak | 125100 | TRg %758 [ (FE4>) MBA] 169 156.4 | 67.27 [dEAHEI] PkE
106105125100233 | H gl 125100 | Ts PR (JE4) MBA] 169 156.3 | 67.24 |dE4H#|| #AFEL
106105125100312 |Fi Z& 125100 | TR 3 [ (3E4%) MBA] 183 146.9 | 67.23 |dE4HbI[ FIsEE
106105125100486 |47— £ | 125100 | T 58 #E [ (FF43) MBA] 169 156.2 | 67.22 |dE4H#|| #AE
106105125100881 | F 7% 125100 [T PR (E4) MBA] 156 164.6 | 67.15 |dE4H#|| #AFHEL
106105125100555 | B34 125100 | TR 3 [ (3E4) MBA] 180 148.4 | 67.10 |dE4Hl[ FIEE
106105125100119 | # 75 125100 | TR 3 [ (E4%) MBA] 160 161.7 | 67.09 |dE4HEI| sEE
106105125100714 [ 48M | 125100 | T 58 B [ (JE4>) MBA] 175 151.6 | 67.07 [dEAHEI] Pk
106105125100446 |8 M | 125100 | TR/ 3 [ (E4) MBA] 175 151.5 | 67.04 |dE4Hil[ FIsEE
106105125101233 | FEE 125100 | TR 3 [ (3E4) MBA] 158 162.8 | 67.03 |dE4Hiil[ FIsEE
106105125100623 [ A5 | 125100 | T s B [ (JE4>) MBA] 169 155.1 | 66.94 [JE4HEI]| PskE
106105125100808 |3 & 125100 | Ts PR (JE4) MBA] 165 157.7 | 66.93 |dE4H#|| #AFEL
106105125100849 | H i 125100 | Tr 3 [ (3E42) MBA] 165 157.7 | 66.93 |dE4Hiil[ FIsEE
106105125100367 (2549 | 125100 | T s B [ (JE4>) MBA] 173 152.3 | 66.91 [dEAHEI] Pk
106105125100966 | 1] 5 125100 [T PR (IE4) MBA] 171 152.9 | 66.73 |dE4H&|| #AFHE
106105125100911 |[A*453H [ 125100 | T 3 [ (E4) MBA] 163 158 66. 67 [dE4Hifill| $#L3EH
106105125101199 |44 i | 125100 | Cis & FE [ (AFE4s) MBA] 160 160 66.67 [JE4HEI| LsEE
106105125100871 [ &4 | 125100 | T s B [ (JE4) MBA] 189 140.5 | 66.63 [JEAHEI| Pk
106105125100638 X EEHE [ 125100 | Lis & FE [ (AE4) MBA] 165 156.2 | 66.55 |dE4Hiil[ FsRE
106105125100512 | #k#kIk [ 125100 | T e 3 [ (E4) MBA] 154 163.5 | 66.54 |dE4Hiil[ s
106105125100420 [ H A | 125100 | T8 B [ (JE4>) MBA] 169 153.4 | 66.52 [dE4HEI| Pk
106105125101303 [/R3%5 | 125100 | T s ¥ [ (JE4) MBA] 163 157.3 | 66.49 |dE4H#|| #AFEL
106105125101273 |Fli~%48 [ 125100 | Lis & FE [ (3E4) MBA] 156 161.8 | 66.45 |dE4Hil[ FIsEE
106105125100615 | B PE 125100 | s & 2 [ (dE4) MBA] 162 157.7 | 66.43 [dEAHEI] PkE
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106105125100938 [[F2534 | 125100 | T s B [ (JE4>) MBA] 189 139.6 | 66.40 [dEAHEI] Pk
106105125100429 |7k 22 125100 | TR 3 [ (JE4%) MBA] 157 160.9 | 66.39 |dE4Hiil[ FsEE
106105125100375 | 14 /& 125100 | TR 3 [ (3E4) MBA] 154 162.9 | 66.39 |dE4Hiil[ FsE
106105125101100 [FR%%E | 125100 [T 758 #E[ (E4) MBA] 176 148.2 | 66.38 |[JEAHEI| HskE
106105125101102 [#kZZP4 | 125100 | T s ¥ [ (JE4) MBA] 173 150.1 | 66.36 |[dE4HEI] Pk
106105125100511 (221545 | 125100 | TR BE[ (JE42) MBA] 155 162.1 | 66.36 [dE4H#l|[ 58
106105125100162 | 5K 5t 125100 | T PR (JE4) MBA] 170 152 66.33 [JE4HHI| #WskE
106105125100768 | 5K % 125100 [T/ % L[ (IE4) MBA] 167 153.9 | 66.31 [dEAHEI| Pk
106105125100875 |2 428 | 125100 | Lis & FE [ (AE4) MBA] 169 152.4 | 66.27 |dE4Hiil[ s
106105125100289 | 424 | 125100 | Lis & FE [ (3E4) MBA] 153 163 66.25 [JE4HE| LsEE
106105125101133 | X/ 125100 [T #E [ CIE4) MBA] 174 148.9 | 66.23 [dEAHEI| Pk
106105125100406 | S5 AHE +| 125100 | s & FE [ (AE4) MBA] 161 157.6 | 66.23 |dE4Hiil[ FsEE
106105125100607 | 7572 125100 | TR 3 [ (3E4) MBA] 165 154.8 | 66.20 |dE4Hiil[ FIsE
106105125100603 |#%#% 125100 | Tps & 2 [ (dFE4s) MBA] 162 156.8 | 66.20 |[dEAHEI| Pk
106105125100853 [ZE 48 | 125100 | T s ¥ [ (JE4) MBA] 156 160.6 | 66.15 |dE4H#|| #AEL
106105125101181 |5t v [ 125100 | T/ 3 [ (JE4) MBA] 160 157.9 | 66.14 |dE4Hl[ FsEE
106105125100570 3% 4iF % | 125100 | TR5 %858 [ (FE4>) MBA] 161 157.1 | 66.11 [dE4HEI] Pk
106105125100845 | @R | 125100 | TR %58 [ (3E4>) MBA] 156 160.4 | 66.10 |4 HEI| WstE
106105125100151 | #5738 | 125100 | T & FE [ (AE4) MBA] 176 147 66. 08 [JE4= Hifill| $#L3EH
106105125100327 | 2 % 125100 | TR 3 [ (E4%) MBA] 176 147 66.08 |dE4 Hil| #UsEEL
106105125100836 |7k 7t 125100 | T PR (IE4) MBA] 172 149.6 | 66.07 |dE4H#|| #AFHEL
106105125100493 3% 384 | 125100 | Cis & FE [ (AE4) MBA] 173 148.8 | 66.03 |dE4Hiil[ FsEEL
106105125100908 | &' = 125100 | TR 3 [ (3E4) MBA] 164 154.7 | 66.01 |4 Hiil[ FIsE
106105125100679 | fk ik 125100 | T p & 2 [ (dFE4s) MBA] 164 154.5 | 65.96 |[JEAHEI| PskE
106105125100801 |#X7k & | 125100 | T 58 ¥ [ (FFE43) MBA] 159 157.7 | 65.93 |dE4H#|| #AFEL
106105125100706 |B5EFI4E | 125100 | Tis & FE [ (3FE4) MBA] 159 157.6 | 65.90 |dE4Hiil[ FIsEE
106105125101174 1% r5 | 125100 | TRg% 58 [ (3E4>) MBA] 160 156.8 | 65.87 [dEAHEI| Pk
106105125100021 (A0 | 125100 [ T75 % #E[ (JE4) MBA] 161 156 65.83 |dEAHbI Pk
106105125100559 [ A58R [ 125100 | T 3 [ (E4) MBA] 156 159.2 | 65.80 |dE4=Hiil[ FIsEE
106105125100803 | 54 125100 | TR 3 [ (JE4%) MBA] 167 151.8 | 65.78 |dE4HikI| #UsEEL
106105125100116 |24 125100 | T 2 [ (dE4) MBA] 153 160.8 | 65.70 [dEAHEI| Pk
106105125100846 | %2 | 125100 | Lis & FE [ (AE4) MBA] 159 156.7 | 65.68 |dE4Hiil[ FsEEL
106105125100266 | {5 % 125100 | TR 3 [ (3E4) MBA] 153 160.6 | 65.65 |dE4Hiil[ FsE
106105125100545 | B 125100 [T % [ (E4) MBA] 165 152.5 | 65.63 [JEAHEI| PskE
106105125100359 | dtE | 125100 | T s ¥ [ (JE4) MBA] 164 153.2 | 65.63 |dE4H#|| #AFE
106105125100436 |B167 | 125100 | Tis & FE [ (3E4) MBA] 168 150.3 | 65.58 |dE4Hiil[ FIsEEL
106105125101193 | F &, 125100 | Tise PR (E4) MBA] 160 155.6 | 65.57 |dE4H#I| #AE
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106105125100897 [7kiE#: | 125100 | T s B [ (JE4>) MBA] 157 157.6 | 65.57 [dEAHEI] Pk
106105125101223 |#X 3t 125100 | TR EE[ (JE4) MBA] 153 160.1 | 65.53 |dE4HiEI| sEE
106105125100505 |3 ¥4 | 125100 | TR 3 [ (E4) MBA] 163 153.4 | 65.52 |dE4Hiil[ s
106105125100868 | Akl | 125100 | TR %7 ¥R [ (FE4>) MBA] 168 150 65.50 |dE4Hl| sk
106105125100933 (225 & | 125100 | T s ¥ [ (JE4) MBA] 151 161.3 | 65.49 [JEAHEI| PkE
106105125100678 |5k #% | 125100 | Tis & FE [ (AFE4) MBA] 158 156.6 | 65.48 |dE4Hiil[ FIsEEL
106105125100417 [#Bum | 125100 | T 48 ¥ [ (JE4>) MBA] 188 136.5 | 65.46 |[dEAHEI| PskE
106105125100894 | £ 15 125100 [T PR (IE4) MBA] 170 148.4 | 65.43 |4 H#|| #AFHEL
106105125100155 | HEFIE [ 125100 | T & FE [ (AE4) MBA] 166 151 65.42 [dE4Hifill| $#L3EH
106105125100093 | 5284 B | 125100 | TR ¥ [ (JE4>) MBA] 171 147.5 | 65.38 |dE4HEI| sEE
106105125100763 | = F4F | 125100 | T s B [ (JE4) MBA] 178 142.7 | 65.34 [dEAHEI] PkE
106105125100960 | 14l 125100 | TR 3 [ (JE4%) MBA] 158 156 65.33 [JE4 Hifill| $#I3EH
106105125100144 | 7+ §i 125100 | TR 3 [ (3E4) MBA] 177 143.1 | 65.28 |dE4=Hiil[ FIsE
106105125100913 | #7¢ 125100 [T % [ (E4) MBA] 163 152.4 | 65.27 [dEAHEI| PsRE
106105125100425 | X1 5 125100 [ i L[ (JE4) MBA] 160 154.4 | 65.27 [dEAHEI] PkE
106105125100833 (217 125100 | TR 3 [ (3E4%) MBA] 160 154.3 | 65.24 |dE4Hl[ FIsEE
106105125100648 |YEARYE | 125100 | 58 FE [ (FF4) MBA] 154 158.3 | 65.24 |dE4H#I| #AFEL
106105125100274 | &5 125100 | T p & 2 [ (dFE4) MBA] 153 158.8 | 65.20 [dEAHEI| Pk
106105125100044 |45 W | 125100 | Tis & FE [ (AE4) MBA] 155 157.3 | 65.16 |dE4Hiil[ FIsEE
106105125100889 [#/ 4k | 125100 | T/ 3 [ (JE4) MBA] 155 157.2 | 65.13 [de2H#HI| wLFEE
106105125100542 [#k¥% 125100 | T PR (IE4) MBA] 158 155.1 | 65.11 |dE4H#|| #AE
106105125101225 [ iR 7k | 125100 | TR/ 3 [ (dE4) MBA] 165 150.4 | 65.10 |dE4Hiil[ FIsEE
106105125100870 |Z£REF [ 125100 | TR 3 [ (E4) MBA] 162 152 65. 00 [JE4=Hifil| $#L3EH
106105125100105 | F 4 125100 [T PR (E4) MBA] 168 147.8 | 64.95 |dE4H#|| #AFEL
106105125100416 |25 125100 | Ts PR (JE4) MBA] 157 155 64.92 [dE4HHI| #WkE
106105125101156 | B4 125100 | Tr 3 [ (3E42) MBA] 159 153.6 | 64.90 |dE4Hil[ FIsEE
106105125100232 | A0 | 125100 | TR5 %758 [ (FE4>) MBA] 165 149.5 | 64.88 [dEAHt| Wk
106105125100930 [#+ Ei5 | 125100 | T se B [ (JE4>) MBA] 176 142.1 | 64.86 |dEAHEI| sk
106105125100743 %44 [ 125100 | T 3 [ (E4) MBA] 153 157.1 | 64.78 |dE4Hil[ FIEE
106105125100687 |JE 4 | 125100 | L& FE [ (3E4) MBA] 154 156.3 | 64.74 |FEAHHI[ WFE
106105125100053 | X )1 125100 | T 2 [ (dE4) MBA] 151 158.3 | 64.74 [dEAHEI| Pk
106105125100029 [#heite | 125100 | TR 3 [ (E4) MBA] 161 151.6 | 64.73 |dE4Hil[ FIEE
106105125100561 | 1% #i 125100 | TR 3 [ (3E4) MBA] 158 153.6 | 64.73 |dE4HIl[ I
106105125100272 | B i 125100 [T PR (E4) MBA] 175 142.2 | 64.72 |dE4H#|| #AFEL
106105125100178 | F 125100 | Ts PR (JE4) MBA] 173 143.4 | 64.68 |dE4H#|| #AFEL
106105125101320 R 43 | 125100 | TR 3 [ (JE4) MBA] 164 149.4 | 64.68 |dE4Hil[ FIsEEL
106105125100241 | &5 54 125100 | s & 2 [ (dE4) MBA] 155 155.3 | 64.66 |[dEAHEI] PkE

#o12 L, 14w




EHERS w4 AT AR K 2 R PR R B R R I E RS | = 5| BT Z1E
106105125100026 [EE33 | 125100 | T 548 B[ (GE4>) MBA] 159 152.4 | 64.60 [JEAHEI| Pk
106105125100544 |2 76 125100 | TR 3 [ (JE4%) MBA] 161 151 64. 58 [JE4= Hifill| $#L3EH
106105125100398 | £428E& [ 125100 | Lis & FE [ (AE4) MBA] 153 156. 1 | 64.53 |dE4Hil[ s
106105125100820 | 7k & 125100 [T % #E [ (E4) MBA] 155 154.4 | 64.43 [dEAHEI| PkE
106105125100841 | FF4 | 125100 | T8 #E [ (FE42) MBA] 159 151.6 | 64.40 |dE4H#|| #AFEL
106105125101184 [# 5 | 125100 | TR 3 [ (JE4) MBA] 179 138.2 | 64.38 |dE4Hiil[ FIsEEL
106105125100191 |{a] fi 125100 [T #E [ (CIE4) MBA] 165 147.3 | 64.33 [dEAHEI| PFE
106105125100084 | 5> B¢ 125100 | T 7 & 2 [ (dFE4s) MBA] 157 152.5 | 64.29 [dE4HEI| Pk
106105125100581 B & 8k | 125100 | T 3 [ (E4) MBA] 164 147.7 | 64.26 |dE4Hl[ FISEE
106105125100176 |1EZL 3¢ | 125100 | Lis & FE [ (3E4) MBA] 189 131 64.25 [JE4HEI| PLsEE
106105125100590 a4 | 125100 | T8 B [ (JE4>) MBA] 157 152.3 | 64.24 [JEAHEI] Pk
106105125100428 |7 125100 | TR 3 [ (JE4%) MBA] 156 152.8 | 64.20 |dE4Hiil[ FIsEE
106105125101242|4F =85 [ 125100 | TR 3 [ (E4) MBA] 162 148.7 | 64.18 |dE4=Hil[ FIsEHL
106105125100189 | s 4% 125100 [T % [ (E4) MBA] 161 149.4 | 64.18 [JEAHEI| HhskE
106105125100257 [#:J77E | 125100 | T s ¥ [ (JE4) MBA] 152 155.1 | 64.11 [JEAHEI] PskE
106105125100068 | £ /4% | 125100 | Tis & FE [ (3F4) MBA] 159 150 64. 00 [JE4= Hifil| $#L3EH
106105125100860 [EXA0t [ 125100 [ L7 % #EL (IE4) MBA] 157 151.3 | 63.99 [dE4HEI] Pk
106105125100540 [ fai U1 | 125100 | T8 B [ (JE4>) MBA] 187 131.1 | 63.94 [dEAHEI]| Pk
106105125100392 |BEFYE | 125100 | Cis & #E [ (AE4) MBA] 162 147.7 | 63.93 |dE4Hiil|[ FsEE
106105125100575 | 4 3¢ 125100 | TR 3 [ (E4%) MBA] 156 151.5 | 63.88 |dE4Hikl| #UsEEL
106105125100665 |15 1% 125100 | T 2 [ (dE4) MBA] 154 152.4 | 63.77 [dEAHEI] Pk
106105125101093 | & K16 | 125100 | Lis & FE [ (AE4) MBA] 155 151.6 | 63.73 |dE4Hiil[ FsEE
106105125101274 |RE& & [ 125100 | T & FE [ (AE4) MBA] 155 150.5 | 63.46 |dE4Hil[ FsE
106105125100572 | 7k 2 125100 [T PR (E4) MBA] 158 148.2 | 63.38 |dE4H#| #AEL
106105125100771 [ 5 %44 | 125100 | T s ¥ [ (JE4) MBA] 162 145.4 | 63.35 |dE4H#|| #AFEL
106105125100554 | 8 3% 125100 | Tr 3 [ (3E42) MBA] 171 139.3 | 63.33 |dE4Hil[ s
106105125100675 [ 4e | 125100 | T s B [ (JE4) MBA] 161 146 63.33 |dEAHEI PsEE
106105125100583 [fifii & [ 125100 [ T75 % #E[ (JE4) MBA] 167 141.9 | 63.31 |dE4H#|| #AE
106105125100611 [T HE [ 125100 | T 3 [ (E4) MBA] 151 152.5 | 63.29 |dE4Hil[ FIsEE
106105125101159 [skmk¥s [ 125100 [ T % #E [ (JE4) MBA] 176 135.5 | 63.21 |dE4HEI| sEE
106105125100046 |47 F°F | 125100 | TR5 %58 [ (3E4>) MBA] 182 131.3 | 63.16 [dEAHEI] Pk
106105125101172 |4 # K | 125100 | T & FE [ (JE4) MBA] 164 143.2 | 63.13 |dE4Hil[ FIsEE
106105125101209 | %175 125100 | TR 3 [ (3E4) MBA] 158 146.6 | 62.98 |dE4Hiil[ FIsE
106105125100113 |E5 /A1 | 125100 | T 58 #E [ (FFE43) MBA] 169 139 62.92 [dE4HHI| #WskE
106105125100566 [P0 [ 125100 [ CiHE #EL (IE4) MBA] 154 148.4 | 62.77 [dEAHEI| PkE
106105125101085 [JE #4E | 125100 | TR L[ (JE42) MBA] 174 134.4 | 62.60 [dE4H#[ 5EH
106105125101307 |4 5454 125100 [ TG #EL (IE4) MBA] 152 148.9 | 62.56 |dEAHEI| sk
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106105125100002 | 47858 | 125100 | T 58 [ (FFE42) MBA] 157 145.3 | 62.49 |dE4H#|| #AFHE
106105125100160 | xthF [ 125100 | T & FE [ (AE4) MBA] 155 146.1 | 62.36 | A4 Hiil[ FsEE
106105125100408 | K s 125100 | TR 3 [ (3E4) MBA] 153 147.1 | 62.28 |dE4=Hiil[ FIsEE
106105125100333 [ {1k 125100 | Tps & 2 [ (dE4s) MBA] 154 146.4 | 62.27 [dEAHEI| PkE
106105125100538 [{HE R | 125100 | T 548 B[ (GE4>) MBA] 165 138.7 | 62.18 [dEAHEI| Wk
106105125100293 [ & 5= 125100 | TR 3 [ (3E4%) MBA] 160 141.8 | 62.12 |dE4Hil[ s
106105125100434 X5 4% | 125100 | T 58 #E [ (FFE43) MBA] 166 136.3 | 61.74 |dE4H#|| #AEL
106105125100307 | Z=30 1 | 125100 | T 58 [ (FF4) MBA] 181 125.2 | 61.47 |dE4H#|| #AFE
106105125100227 | #5444 | 125100 | T 3 [ (E4) MBA] 162 137.7 | 61.43 |dE4Hil[ FEE
106105125100608 [fa] =45 | 125100 | 75 & FE [ (3FE4) MBA] 154 142.9 | 61.39 |FE4H#I| WhE
106105125100240 | BkéizE | 125100 | T8 [ (FF42) MBA] 154 141.7 | 61.09 |dE4H#|| #AFHEL
106105125100173 [ 24 2 125100 | TR 3 [ (JE4%) MBA] 160 137.2 | 60.97 |dE4Hiil[ FsEE
106105125100019 | Iy il 125100 | TR 3 [ (3E4) MBA] 155 139.7 | 60.76 |4 Hiil[ FIsEL
106105125100140 [# 125100 | Tps & 2 [ (dFE4s) MBA] 157 138 60.67 |dE4HEI sk
106105125100988 | ¥ Z= 125100 | Ts PR (JE4) MBA] 155 138.9 | 60.56 |dE4H#I| #AEL
106105125100467 |48 HsvE | 125100 | Tis & FE [ (3E4) MBA] 160 132.6 | 59.82 |dE4Hiil[ FIEHL
106105125100071 [#k-0o 2 | 125100 | T 48 ¥ [ (GE4>) MBA] 151 135.7 | 59.09 [JE4HEI] sk
106105125101154 | @A | 125100 | TR #E [ (FE4>) MBA] 166 121.5 | 58.04 [dEAHEI| sk
106105125100338 | ##ii 125100 | TR 3 [ (3E4) MBA] 152 130.8 | 58.03 |dE4Hiil[ FsEEL
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